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Weight Loss Challenge
Instructions for Host 
Objective: 
To calculate weight loss percentage over a period of time. 

Time Duration: 
The typical time frame is anywhere from four to eight weeks. The host will make that determination.
How to Play: 
Begin and end the competition on the same date for everyone and if possible, use the same scale at each weigh-in. Participants weigh two to three times a week and write their weight in the tracker below. 

Calculate weight loss by percentage loss - not by pounds lost. This makes the competition fair and even. To do this, subtract the final weight from the starting weight. Divide the difference by the starting weight to calculate the percentage of weight lost. For example, if you start out at 160 pounds and your final weight is 150 pounds, your total weight loss is 10 pounds (160-150=10). Divide the weight lost (10) by the starting weight (160) to calculate the percentage of weight lost, which in this case is 6% (10 / 160 = 0.06).

Share how you and your agency completed the challenge! Email us at WFHT.TN@tn.gov or share it on our Facebook page. We’d love to hear about it!
Once you've completed this challenge, please ask participants to fill out this survey so that we can create the best possible wellness programs and activities for you.
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Weight Loss Challenge Tracker

Name _______________________________            




Agency/Department _____________________________

Use the same scale at each weigh-in. You’ll weigh yourself two to three times a week and write your weight in the tracker below. Stay motivated and stay on top of your tracking!
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	Week 8
	
	
	
	
	
	
	


Calculate weight loss by percentage loss:
1. _____ (starting weight) - ____​​​​​_ (final weight) = _____ (weight loss).

2. _____ (weight loss) ÷ _____ (starting weight) x 100 = _____ (percent weight loss).
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